
CODIFICADOR BCD 8421 PARA 
EXCESSO 3



BCD 8 421 EXCESSO 3

A B C D SA SB SC SD

0 0 0 0 0 0 1 1

0 0 0 1 0 1 0 0

0 0 1 0 0 1 0 1

0 0 1 1 0 1 1 0

0 1 0 0 0 1 1 1

0 1 0 1 1 0 0 0

0 1 1 0 1 0 0 1

0 1 1 1 1 0 1 0

1 0 0 0 1 0 1 1

1 0 0 1 1 1 0 0

1 0 1 0 X X X X

1 0 1 1 X X X X

1 1 0 0 X X X X

1 1 0 1 X X X X

1 1 1 0 X X X X

1 1 1 1 X X X X



𝑆3 = 𝐴 + 𝐵𝐷 + 𝐵𝐶



𝑆2 = ത𝐵 . 𝐷 + ത𝐵 . 𝐶 + 𝐵 . ҧ𝐶 . ഥ𝐷



𝑆1 = ҧ𝐶 . ഥ𝐷 + 𝐶 . 𝐷 = 𝐶 ⊙𝐷



𝑆0 = ഥ𝐷





Para a próxima aula, trazer o projeto de um
decodificador do código Excesso 3 para o código
BCD 8421.


